Ackerman Excerpt:  Reading Comprehension Self-Quiz

Correct Answers, Comments & Explanations

Correct answers in bold type; Prof’s comments & explanations in Italics.

(1) When Ackerman refers to “Scientific Policymaking of a Utilitarian sort,” which of the following does he proably have in mind?

(a)  Expert witnesses at Takings trials.  Expertt witnesses in a federal case are not likely to be doing policy-making, but rather will testify as to complex technical facts.
(b) The work of Frank Michaelman.  As the excerpt suggests, Michelman is engaged in utilitarian policy-making.
(c) The Penn Central Majority Opinion.  The case wasn’t decided until a year after Ackerman published the work incorporating this view.

(d) All of the above.

(2) In Ackerman’s view, the “Ordinary Observer” would see an unconstitutional Taking in which of the following situations?

(a) Whenever there is a significant reduction in property value.  The excerpt makes clear this is not so (e.g., the reference to a reduction from $100 million to $20 million).
(b) Whenever a property owner has been using his [land] in ways that well socialized people should recognize as unduly harmful.”  This is a case where Ackerman says the Ordinary Observer will not see a Taking.
(c) Whenever, as a result of government action, the landowner “no longer has his [property] at all.”  The excerpt says this explicitly.
(d) Whenever another person uses the landowner’s property “without receiving his permission.” This relates to the definition of “property,” not to whether ther has been a Taking.
(3) In Ackerman’s view, a “bad joke” occurs in which of the following situations: 

(a) A regulation interferes with the landowner’s property to the point that it has been “rendered virtually useless.” The excerpt says this explicitly.
(b) A regulation interferes with the landowner’s property to the point that its value is significantly reduced.  Again, the excerpt makes clear that this is not automatically a Taking in the Ordinary Observer’s eyes.
(c) A regulation interferes with the landowners’ property for a purpose that the landowner strongly dislikes. Ackerman makes no reference at all to the purpose of the regulation.

(d) All of the above.

(4)  What is the meaning of the final sentence of the excerpt?

(a)  Ackerman does not agree that an Ordinary Observer would view Takings law in the way he describes.  His whole point is that he thinks that this is how an Ordinary Observer would view the problem. 
(b) Ackerman’s Ordinary Observer analysis does not conform to what the Supreme Court actually has done.  The excerpt makes clear that Ackerman’s approach does a good job explaining the results of the Supreme Court cases.
(c) Although Ackerman’s Ordinary Observer analysis does a good job explaining the results of the cases, he doesn’t necessarily believe it is the best approach to deciding Takings questions.   The first clause is the “convincing account of takings law;” the second clause is the “is not to say he endorses the approach.”

(d) None of the Above. 

